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Multiple Choices

Mark {a,b,c,d} for the correct answers in the space given below for Q.1-to-Q.10  [10x 1=10]

Q.No. 1 2 3 4 5 6 7w 9 10_ j
{a‘!b:crd} , - _‘ . = = S 5 = 5
_[sinz rdi
Q. No:1 {1_1}(} —”——x~3——— is equal to
@0 (i))':% _ (c) = (d) none of these

1
Q. No:2 The value of the integral Itan"’ x dx is equal to
o0 :

75 /4 - r 1

a)—— -l ——In2 {c} —+—In2 " (d) none of these
@iz ®) 7 Bl @
Q. No:3  To evaluate the integral ,_[x’ x* +25 dx we use the substitution ‘
(@) x—tand _ (b) x=5secd (c) u=5Stanx (d) none of these

- - - ] i . 1 X
Q. No:4 The partial fractions for solving _[—5—2— dx is
‘ ; x (x +l)
(a) —%+ —)§—+£ b} - +_~B;—+ €§+ > {c) ! + sz+ o {d) none of these
x x +1 x0T x+1 _x X +1 _ -
Q.No:5  The value of the integral “fsec’ 6 d0 15
5 3 ) ’ S 3
@ o 9+c (b) hn 94«({_ R tan6’+tan +c (d) none of these
~ AT
Q.No:6 To evaluate the integral J-z—_ dx we use
x—2x+3
: : , {c) Completing the
(a) Integration by parts  (b) Partial fractions . e y (d) none of these
Q. No:7 To evaluate the integral f - L we-put
: sin x+cosx :

(a) u=tan [g) (b) u=sinx (c) x= tan(%] - {d) none of these

Q.No:8 The value of the integral Isin 3x sinx dx is equal to

. sin2x sin4x sin2x sindx sin2x sin4x

a - +c b = C C + d) none of these
(a) 5 A (b) 2 = (c) 1 2 (d) none
Q.No:9 To evaluate the integral J-F:an3 xsec’ x dx we put
(ai)‘ U =5ecx (b) u=sec’x A{c) u=tanx (d) none of these

) ‘ . . xIIJ __1

Q. No:10  To evaluate the integral J-m dx we put_
(a) u=x"* () u=x" (c) u=x"* (d) none of these

Second Semester 1427-1428
M-106 Second Test
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Full Questions:

y 2y
Question No: 11 Evaluate hm[l+—) .

X—*o0 x

2]

1
Question No: 12 Determine whether the following 1mproper integral Jlnxdx converges or
o

diverges.

(2]

i x—1
Question No: 13 E\:aluatc the mtcgral Im

[3]

Question No: 14  Evaluate the integral I(_Si% _ B}
—-x L

ian
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‘ Multiple Choices

Mark {ab c,d} for the correct answers in the space given below for Q.1-t0-Q. 10 [10x 1=10]

Q.No. 1 2 3 4 5 6 il 8 g 10
fabed} | - et : = . e
T : 5Ces=) . o
Q.No:1 The integral dx is equalto
Csc(x)
Cos(x) Cos(x) :Ca:( ) (d) N fth
(a) +c (b) — +c (€) =5 +c one of these
In(3) In(5) : :
" Q.No:2 If logx=3 then x is equal to
@9 2(b) 6 (c) 8 (d) None of these.
Q. No:3 cosh(In(2)) is equal to
(a) i (b) 3— (c) % (d) None of these
Q.No:4 ~ Lim C‘”(f is equal to
Iﬂ% b e
2 ¥ Z 1
(2) 0 (b) 1 ] c) -1 (d) None of these
1
. 2
Q. Ne:S5 To evaluate the integral J'—;—mdx the best substitution is
x3+1
4 L L ,
(a) u=x? (b) u=x* (c) u=x° (d) None of these
Q. No:6 If 6x—x* = A—(x—B)* , then :
(@ A=9,B=3 (b)A=3B=9, () 4=1,B=2, (d) None of these.
Q. No:7 5 = 5 then the correct partial fraction decomposition is
X +x
A B A Bx+c A B Cx+D
PO 2l o () —t=t—5 o (d) None of these.

Q.No:8 - Icotzxdx: is equal to

(@) —cotx—x+¢, (b) —cotx+x+c, (¢) —csc’x+c ,  (d) None ofthese

Q.No: 9 If +/x*—4 =2tang then
(@ x=28ecf,  (b) x=2tanf , () x=2Cotd (d) None of these.

€. No: 10 Ita_rf'x dx is equal to

(@) xtan x+In(x* + 1) +c ,(b) xtan ' x + %ln(x2 +1D+¢ () xtan” x+x+ c,(d)None of these

s



Full Questions:

Question No: 11
Question No: 12
Question No: 13

Question: 14 Find the Lim (x —1)::‘ if it exists
=1 ’
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Multiple choices

Q.No. 1 2 3 4 5 () 7 8 9 10
{a,b,c,d}
x—tan™' (x) .
Q.No: 1 The value of Lim—————= is equal to
=0 Sip(x)
(a) oo (b) -0 (©) 0 (d) None of these
Q.No: 2 The integral J-in(x)dx is equal to
1
(@) -1 (b) 1 (c) ) ((_:I) None of these
1Yy .
Q.No: 3 The value of Lz‘:;z (~] is
-l X
(a) 1 (b) —d (c) 0 {d) none of these
Q.No: 4 If Jc033 xsin® xdx = g(x) + ¢ . Then g(x) is equal to
. 3 -5 e 5 .Y 5
@) sin“x _sin”x b sin"x cos'x © (sinx) 2 {cosx) T
3 5 3 5 9 S
3
x
Q.No: 5 To evaluate the integral |—————dx , we choose
wa 9x* +49
@ x:%tané‘, (b) 3x=cosf, (c) x=7tand G
3 _—
Q.No: 6 The partial fractions for solving f - 2 1 dx are
‘ x"—1fx" +1
@ A b Bx+c ) AJ§+B+ Cx+D & A " B _E_f.::]c" () Mone of thiese

e+l 2 e]l =] xt 3 x+1 x-1

Q.No: 7 The substitution z =+/1++/x transforms the integral J' 1++x dx into
@ [4a —u")du, (b) P(uz —u*)du, (c) [2(«* —u )du, (d)None of these.

Q.No: 8 The value of the integral J—% e Sin(2x)dx is
o X
{ay. I, (b) 2. (c) 0, (d)None of these
Q.No: 9 The substitution = tan(f) transforms the integral J'——~—l~dx into
2 1—Cosz
@ | = : ) j = du, (©) ji du (d) None of these
My +1)? I+u’ u

-}
-

Q.No: 10 The integral {x®dx converges i¥

1

@ -l<a<0, Byl<a=xl . () a<-1 (d) None of thes=




Full Questions

, : j Sin(t?)dt
- . - - D s =
Question No: 11 Find the IiT__ﬁﬁSz‘n(xz) ifit E)flst.
Question No: 12 Evaluate the integral —1———dx
'[Ji?'1 V9 —x*
2
Question No: 13 Evaluate the integral F—C;—tlzx—mdx
x® —4x
' ) '
Question No: 14 Discuss whether the integral J- x 3 dx converges or diverges, if it

0

Converges find its value.
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